EARAROBEEIERT — 2 N— IBISH —F

20174118250 (+) 8mEZKR1A

IGN C 2 +# ¥ 7R—Mik

‘ [R1%] 4‘%“ [REBE] — | & (A) 13000 R

[AE%] 17 :200,000 § 23 :40,000 H

37&:20,000 B  43#&:14,000 W 57 :6,000 B

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< o HLER 122, -1-1- . — EEE (KR)
1155 I—yyYy—7uy— 4 3 ns 1(2_2)9 1-1-1-1 | 38.5 1 ;1:‘2) %i%
Zox4o BT ILIL, YRETy—L
o i 3 | Atk 1:23.1 3-3-3-3 |38.3| — 2 458 | HEEER= (E&ME)
2 o | ExXHO—A ¥¢53.0 ) (4) | AR
LA T*rTv— B:TS5V15—b HET77—L
EERE . —D_D_ — FREFMB (KR)
slglg| 2=ty 1 —2 i 3 e 1.(2233.4 2-2-2-2 | 38.8 3 (4;3) g
RARY w4 = BiAXHIEY v b HET7— L
TRy . A A _ =1 N
4 6l71—UTN # 3 IJ:‘WOW& 1.(223).7 4-4-4-4 | 38.8 5 | 470 %Jﬁ_fz (KiR)
RF—TAAT BYIVES 2 | e
5 RN RAY = €3 fé*%% 1:(224).0 5-5-5-5 |38.4| — 4 | 481 gggg KR
QiELL s REE BTN SR RSy ey
. . > o4 | AVHRE 1:24.9 7-1-7-1 | 38.4| — 6 433 | BIAIER (KR)
6|1|1|/HE>/IED 6.0 6) o) &) A-257
R:x¥/ by THY B:ZV/EXY AR5
a9F f 3 | AHER 1:26.0 6666 |40.1| — | 7 | 427 |BAER (KR)
7 4 252.0 @) @) | B w=247
XL JARZN BEILA-—T X HR&H AXMEXT-T0
s o o 4 3 | WUABER — - — — — — | EEsE (BERE)
¥x|7| 7| ¥¥ 7L Y TL 54.0 (B3H) (—) |BEXS
R:2—MLRIIL B:E27F+ 7Ly b J=HTy—LI
® I —F—@EBIERL
13=zr= 5,8,2,6,3,4,1
2o=7r= 5,8,2,6,3,4,1
BEE 5,8,2,6,3,4,1
43—+ — 5,8,2,6,3,4,1
[ RN
B OB 5 1504 714K 2-5 120H B E 2-5 160 &R 2-5-8 380M
7 B 5 110 5-8 1708 | | B B 5-2 250M | | EE 5-2-8 880M
2 140 2-8 240M

ABICOVWTRDTEEERROODE. TR LIV,




